
INSTALLATION INSTRUCTIONS
INNET Roof rack

INNETSKLEP



Parts list:

Front lower
trim 1x

Front upper
trim 1x

Rear lower
trim 1x

Rear upper
trim 1x

Lower main
beams 4x

Left & Right
lower trim

2x

Left & Right
upper trim

2x

Holding strip
for lower

main beams
2x

Front corner
plastic 2x

Rear corner
plastic 2x

Self-tapping
screw

(Ф5Х16) 24x

Screw
(M6X12) 20x

M6 nut 20x M6 washer
44x

Side plastic
2x

Steel
crossbar 2x

Plastic end
4x

Metal clamp
4x

Mounting
key 1x

Allen
wrench 1x

If you purchased a kit with roof bars, you will also receive:

If you have purchased a set with a U-clamp, you will also receive:

U-shaped
bolt M8 4x

Plastic nuts
М8 8x

Screw
M6x10 +

washer M6
8x

Clamping
plate 4x

Threaded
washer 8x

If you have purchased a set with a T-clamp, you will also receive:

T-shaped
bolt M8 4x

Plastic nuts
М8 4x

Screw
M6x10 +

washer M6
8x

Screw
M6x50 4x

Threaded
washer 8x

Attention:
*We recommend that you tighten the final screws only after assembling all the

parts to facilitate the eventual fit of the components and their adjustment relative
to the vehicle.

INNETSKLEP



Front corner plastic

Front bottom trim

Front upper trim

M6 washer

Self-tapping screw

Front corner plastic

Installation stage of the front upper and lower trim:
1. Prepare the front lower and upper trim and connect them using the front corner plastics.
After fitting, use self-tapping screws and washers to screw all the pieces together (Figure 1).

Rear upper beam

Rear connecting plastic

Rear connecting plastic

Rear lower beam

M6 washer
Self-tapping screw

Installation stage of the upper and lower tail bar:
1. Install the rear top bar and rear bottom bar into the plastic connector and secure them
with self-tapping screws (Fig. 2)

INNETSKLEP



Threaded washer

Left & Right Slats

Decorative plastic

Left & Right Slats

M6 washer

Self-tapping
screw

Side bar installation step:
1. Install the plastic adapter in the left and right upper bar and the left and right lower bar, and
screw it with self-tapping screws.
2. insert the threaded washer into the bottom rail so that there are 4 pieces on one side.

Screw (M6X12)

Crossbeam

M6 washer

M6 nut

Crossbeams installation step:
1. Arrange the crossbeams according to the above drawing, then attach them to the
substructure with the supplied M6x12 bolts, M6 washer and M6 nut.

INNETSKLEP



Lower bases

Installation stage of lower panels:
1. Slide the panel into the center of the structure, paying attention to the fit of the mounting
holes.

Screw (M6X12)

M6 washer

M6 nut

Lower panel installation step:
1. check the correct fit of the mounting holes
2 Insert a screw (M6x12) into the holes, then screw a nut (M6) from the back and tighten with
each other with a wrench, repeat the operation at each hole (Fig. 6)

(Fig. 6)

INNETSKLEP



(Fig. 8)

(Fig. 7)

U-Screw

Screw (M6X10)

M6 Washer

M8 nut

Plastic nut

Screw (M6X50)

U-Clamp
T-Clamp

M6 nut

Plastic nut

Lower bracket installation step:
1. Install the threaded nut in the lower rail of the left and right beams and match the
dimensions of the roof beams or rails installed on your car. Complete this activity by tightening
all screws.
(2) Once adjusted, install the lower bracket using a bolt (M6x10), and tighten the nut with a hex
key. (Fig. 7)

Roof beam assembly step:
1.Place the assembled rack on the crossbar.
2.Installing the T-clamp: insert the screw (M6x50) into the oval hole of the bottom bracket, insert the
plastic knob, secure with the M6 nut, turn the plastic knob and tighten the tube crossbar.

3.Installing the U-shaped clamp: screw the U-shaped screw into the two
elliptical holes of the bottom clamp plate, insert the plastic knob, and finally use the M8 nut and turn the
plastic knob to clamp the crossbar. (Fig. 8)
Lower bracket installation step:
1. Install the threaded nut in the lower rail of the left and right crossbars and match the dimensions of the
roof beams or rails installed on your car. Complete this activity by tightening all screws.
(2) Once adjusted, install the lower bracket using a bolt (M6x10), and tighten the nut with a hex key. (Fig. 7)

INNETSKLEP



Attention:
*The tightness of all screws should be checked again after about the first 50km of driving.

INNETSKLEP



Optional installation of INNET roof beams

Adjustment

Step One:
1. Install the pipe clamp and cap according to the above picture, then adjust the distance by
moving left or right to fit your vehicle.

Step Two:
1. Loosen the outer bolt on the clamp and swing it open, then attach it to the roof rails on
your vehicle, adjust the position and tighten the screws alternately to securely fasten it.

INNETSKLEP



Optional installation of INNET roof beams
Parts list:

1. Install the bracket in the horn bar at both ends of the aluminum tube, and then install the roof crossbar.
Use the key to turn the bolts on the adapter and pin the bracket to the car's rails. Finally, install the plug
on both ends and use the key to close the lock.

INNETSKLEP



Optional installation of INNET roof beams
Parts list:

Step 1

Step 2

Step 1

Step 2

A larger angle
corresponds to the
higher side of the

installation

Step 3

The smaller angle
corresponds to the

lower side of the
installation

Site with a larger
angle 

Site with a smaller
angle

1. Install the screw plate in the slot of the aluminum beams (Note: this should be done at the
boundary edge of the beam). After installation, the two screw holes on the plate should be flush
with the holes in the beam slot. 
2. open the outer housing of the adapter (turn the key to the horizontal position to unlock it),
and then release the clamps on both sides of the rear edge of the adapter.
3. install the adapter in the slot of the beam (Note: above the screw plate), and then fix it with
screws and washers. The installation direction of the adapter is shown in the picture. Side with
higher angle 

INNETSKLEP



Optional installation of INNET roof beams
Parts list:

1. Lift the rubber of the bar, then loosen the screws connecting the bar to the adapter and place the
crossbar on the roof of the car. 

Adjust the adapter to a position suitable for installation. 

Finally, make sure that the hook on the adapter is firmly clamped on the crossbar and tighten the
screws on the hook.

INNETSKLEP



1. Make sure the hook on the adapter is tight and the screws are tightened. 

Reattach the rubber cover and the adapter cover and lock with the key. 

(Note: Vertical position of the key means locking the set, horizontal position means unlocking)

INNETSKLEP


